(M)

HISEER ZEESLES (A) H2SEER SHEESEBSRAA(B) 1048
B ®m B B B I E#E £ 3316629 84 ®H EA E ¥ i1 E = 3,486,706 170,077
i & H & 1,283,608 | & & = s 403,839 A 879,769
B O x & = #H & E# £ 40| B = E &£ #®H & E £ 33,569 3,159
Py = E3 Bh # & 21,040 | ¢ == # ) H £ 32,542 11,502
TEFFRERFREEERREZERERE £ 474,950
1t = =2 il = & 93,672 | & )£ = #t H & 177,419 A 8803815
Hh 1 =2 1t H & 489,612
FEEHEEREEABESEEES 66183| FEBHHEEBREERGEREEES 39,513 A 26,670
A B & & B OO xz £ 80905 & % T ¢ & o E = 484,895 403,990
SAbdETE21 FH ICY H S 2001419 A 2 & &£ 21 F 6 232<K Y & £ 1,234 | A 2,000,185
= 5 R i = & 64,384 | E B R i = & 56,047 A 8337
B E Y L B Ok R B KX E £ 227400 B2 E ¥ 0 B & X B %X HE £ 101,689 A 125711
+ ih 5] i H % 1,790,000 | *+ ih B ﬁ-s H® ﬁ 1,720,000 A 70,000
TREALETHEXEEESEMFTESE 2000 TRENANTHETXEEEEEMNE 20,000 0
NERRSENES —CECREZELEMES 2,000 ﬂ%;’éﬁﬂﬁ%%ﬁﬂ%;’éﬂ—txﬁﬁﬁéﬁﬁﬁé 2,000 0
TERBKRENEKLTE £ EE £ 100 M ERK N EHKF B £ F E & 189,435 188,435
ZARBEEEEREEESEMNHESE 301,422 r%m(iﬁ,ﬁ,ﬂ.aﬁ%%ﬁ%llr;#wﬁ%llr;xﬁlww) A 301,422
ERERBRERRMBRAEZREILESE 5| E R R AR MBFABRBEILEE 50,417 50,412
EEREGRREEEREEESEMNESE 1000 ERBREGAREEEEEESEMHESE 10,000 0
EREREBERKREHEEZE EfMNMHEZS 00| B R BB EGREK H E & B (& € 7,000 4,000
E oA ROk K OB OF OE 2 0 0
BE.XERURR—VYERXERESERE S 111,242 111,242
HhREBZRVEBBEREZRE £ 29,838 29,838




